Vs

(a) For flat-backed TVs
ERTFFEERD
T3vbTLER
Fiir Flache TVs a x2
Pour les téléviseurs a dos plat
Per i televisori a schermo piatto
Para los televisores de pantalla plana

(b) Forcurved Tvs
EATFemEEB
ETLEICERY S
Fiir Curved TVs
Pour les téléviseurs incurvés
Per i televisori curvi <
Para los televisores curvos

(C) ForTvscablein the middle
ERTFHIERY BN L
REOTLET—TILISERT 3
Fir TV-Kabel in der Mitte
Pour les téléviseurs a cable central
Per gli apparecchi televisivi centrali via cavo
Para los aparatos de television central por cable

ST4x16

13MM

®8.5xP20x2

Cable Strap
X2

Eé(tention Bracket

Tools Requried (Not included )

What's in the box What's in the box Accessories for installing TV

Ve

N x4 | V-B b [ M-C b | M-D b

[ [ i §

@ @

Mb&x14 M6x14 M6x30 M8x30

RS x4 R x4 Rl x8 L M-H &

- []
©

M8x50 5mm 15mm

(d) Forirregular-backed TVs

EATAANEREN

TNV TL—>FLEADER
Fir TVs mit unregelméaRigem Riicken
Pour les téléviseurs a dos irrégulier

Per i televisori posteriori irregolari

Para los televisores traseros irregulares

A-

Easy to install
3

]

Do not tighten the screw
TEITRIRL
ROEFRDH TSIV,

Ne pas serrer les vis
Non serrare le viti
No apriete los tornillos

Ziehen Sie die Schrauben nicht an

1Tmm-3mm

X

I

Choose Whether Install the Extension Brackets
EHIAR T EAERT

ERTZTY R ERODMITZDNESHEREBL TSV

Wahlen Sie, ob Sie die Erweiterungshalterungen installieren sollen
Veuillez vérifier si vous utilisez une tige d'extension

Verificare se si sta utilizzando un'asta di prolunga

Compruebe si se esta utilizando un alargador

Higher (From Bottom) Lower(From Bottom)
ZEARA: RERIELA, BURERRTES AR B: ERE KT, ENRERE TR

BRABHEVES IR FLEAS LS (FH5) HRBESHEIE. FLEMECES (FH5)

Haher (von unten) Niedriger (von unten)

A : sans tige d'extensions, le téléviseur peut &tre monté plus haut B : Avec la tige tige d'extension, le téléviseur peut étre monté plus bas
A :Senzaastadi prolunga, il televisore pud essere montato piti in alto B:Conlastadi prolunga & possibile montare il TV pi in basso
A\: Sin la barra de extensidn, el televisor puede montarse més alto B : Conel poste de extension, el televisor se puede montar més bajo'

~

Easy to install Easy to install _ Easy to install
A-1 v, : :

Tighten the screws

by $72
KIOELDDIEDTEEL,
Ziehen Sie die Schrauben an
Serrer les vis

Serrare le viti

Apretar los tornillos

5MM

O O
X




Easy to install Easy to install Easy to install

4 N

BACK

-
-

~
/

-

/ : | _fffiiiii?i;;'

Do not tighten the screws e —1mm-3mm
TEITRIR

XOEIEDHTLLESI W,

Ziehen Sie die Schrauben nicht an

Ne pas serrer les vis

Non serrare le viti

No apriete los tornillos

-

A-9

~

Extension Bracket x2
HEAFX2
EETZTvX2
Erweiterungshalterung x2
Tige d’extension x 2

Asta di prolunga x 2

Barra de extension x 2

-

B-2

(a) Forirregular-backed Tvs
ERTAANEREN
TRANY I TL—>TLEADER

Fiir TVs mit unregelmaRigem Riicken

Pour les téléviseurs a dos irrégulier

Per i televisori posteriori irregolari

Para los televisores traseros irregulares

(b) Forflat-backed Tvs
ERTFEEMR
72y TLER
Fir Flache TVs
Pour les téléviseurs a dos plat
Per i televisori a schermo piatto
Para los televisores de pantalla plana

Easy to install Easy to install

~

-

B-7

DO
X A/

Tighten the screws

-t 374

KO LHDIEH T,
Ziehen Sie die Schrauben an
Serrer les vis

Serrare le viti

Apretar los tornillos

-

(C) For curved TVs
ERTEB
HETLEISERT S
Fir Curved TVs
Pour les téléviseurs incurvés
Per i televisori curvi
Para los televisores curvos

(d) For TVs cable in the middle
SERTHIEIRYEBINEL
FREOTLET—DILSERY 3
Fiir TV-Kabel in der Mitte
Pour les téléviseurs a cable central
Per gli apparecchi televisivi centrali via cavo
Para los aparatos de televisién central por cable

-

B-9

~

~

B-10




